Efficiency vs dr

e

=i

[ Efficiency vs dr (track,jet) |

1
TP min AR

5003
20.009
=
®.008
<
£.007
>
2.006
c
$.005
&
©.004
0.003
0.002
0.001

1.0

Ratio

Efficiency vs pu

50.02
a  r
©.018F
@.016f
(] r
‘©.014F
=
®.012
0.01
0.008F
0.006
0.004
0.002F------i-418:

.........................

.........................

.........................

..................

..................

..................

C 11
1.4

Ratio

1.2

| SRRREELE

60 80

120 140
Pileup

10
AR(TP, jet)

-1




	Contents
	Page 1


